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sunusnre3lL Ssuluur | unuUhuUhNL dJoUur
1. Qwpyp plugnui1
w/ dpghyuul whidwlg hwdwn 5 000 npwd
wihwwn dtnGuwpyunbptinh) 10 000 npud
g/Lpugnighs hwphyGtph pugnid 3 000 npwd
2. {uipyh uwywuwpynd, thwynd 0

3. {wyny qoupowppltp shpuwGugywd hupgh uulu.luu.lpllnui2

w/ st6 Juwnwpyty gnpowppltip 365- hg 730 on 10 000 npud wiuwlwb
p/ st6 yuumwnpyb) gnpowppltn 731- ophg WhGsl 1095 op 15 000 npud wiuwywG
¢/ st6 yuwmwnpyby gnpowppltin 1096 on L wiytiih 20 000 npud wiuwwG

4. {wpyhg punuopbtph, yGwpwyhG thwuwwpnpbnh, SWIFT hwnnpnugnmpimGGtph wyuwmakibph L/jud
ynlyGophGwlGhph, wy mbnbynipymGGitph L mbnblwlp (ihph4 npuwiumpmy’ Cow Junbimpjw i
duslwGhpp’

4.1 dhqhjwlwl wmGéwlg mpuwiwnminn pun[dulbpﬁlip3 0

4.2 bpuwJwpw fwlwl wiédwlg hwiwp

w/ UhGslk 1 wihu Juumwpgwo qnpownplnh hwdwnp

§ Qwuhg punuopGtiph npwiwnpng’ 0

§ ddwpwjhG thwumwpnptiph, SWIFT
hwnnpnugnnipyntGGph wwwndkGatph WHwd
UnyGonphGwlGtph, wj mtntympjniGGtph L
wmbtintulpGtph mpwdwnpoud* 1 000 npwy




p/ 1-hg thGsl 3 wihu yuunwpywo gnpowppltph hwiwp* 1 500 npwd

¢/ 3-hg thGsl 1 mwph juunwpywd gnpdwppltiph

hwdwp* 2 500 npui
1/ 1 mwpnig wyt) juunwpjwd gnpowpplbph hwdwp* 5000 npwd
5. bhghjulwl whdwlig mpuwdwnpynn mbtntywGpltn * 5 000 npud

5.1 dpghyuub wGdwlg mpuwiwnpynn hhthnptipwjhG
Jupytph ydwpjwo mnynuwgniiwnplbiph qony << MY
(pyuywgynn tnwdujwluwjhl mbntiuipltp

1000 npwd
6. <wyyh mGophGiw6 hwdGwpupulywt’ 5000 npug e
6.1 Unim Gw yupdwyswpltph qony 0
7. {upgh mGophGmy «Home banky» huuiuﬂlulpqnq8
Uwppny hw)yh uvyuwuwpyiwG ydwn 15.000 npud
Uwppny hwpyh vyywuwnpydwl Jdwnpp ny ntighntlGum
$hahyuyub b hpwywpwlwlyuwl widwlg/ wihwwn
dtnGwpyuwntiptiph/ L ny << wGdGwgpny bhqhyuwywb
wldwlg hwdwpsp 30.000 npud

7.1 hbpwjwpwlwlwl widwlg (wihwwn
dtinGuplwwnbptph) hwdwn




w/ Uwnpny hw)yh vyuwuwnpyiwb ydwnpp squGdtnt
ntypnmd

3 OOO << rHlqui wduwlw

p/ Uwppny hwpyh vyyuuwpyuiwl yawnpp qubabint
nhypnd

1 000 << I}l’ll,uli wiuwlw b

7.2 dhghyulyul whdwlg hwdwn

w/ Uwppny hwyh vyuwuwpyuiwl ydwnpp squbdtint
ntiypmyd

3 000 << I}l’ll,uli wiuwlw b

p/ Uwppny hwpyh uyyuwuwpyiwl yawnpp qubdbint
phypns™

1 000 << I}l’ll,uli wiuwwb

7.3 Lwpuh (uwpph) Ynpunh (YGwujwdph) nhwypnid*

30 000 zZ npud

8. Fpwiwluw shiwyhG qppnyyyGtph mpwdiwnpnud* ’

5000 << o

hwpgniGhph WwwnwujuwG* 15 000 << npud
9. {wswlunpyh Yynnihg Yuwnwnjwd gnpownGmpjniGGhph swuh hwupgnuiGhp* '
w/ << npud, Y nnipth 3 000<< npud
p/ U wpumwpdnyp 30.000 << npud
10. «VIPy» upwhnud hw§whunpyGhph uwywuwpyoes ' 20 000 << npuug e
11. Dhqhiwywl widwhg Ynnihg
<<UBEUNULNURTLY>> ARC-nui puGlwjhG hwpyh,
punuwjhG hwyh, dwdytnw)hl wjwbnh, qupyuhG 3000 &< npud

hwyh, wpdtipnptph hw)yh L wwhwwnmtinh vyuwuwpyiw i
hwiwp thwqupugnptph mpudwnpnid. *12




*

3000 < npud

%
12. &< whnmwywl ntghuwnphg biayupnbwihG hwpgnud /yntpupwtisjntp hwpgwG hunswp/

Uwljpughtn GEmunnuf F UUL-G

1 w/ Qwjywunwih <wlpuytimnipjul fhGuwpnywljunm hwinhuwgnn ntighntGum $hghuui wGdwbg, pwhniyp

shtimwy Gnnn yuqiwltpympymGGtph, whinwlwl, ytnwlwb nyg wnlnpwjhl, hwdiwylpwjhl ny wnlanpujhG
L hwuwpwwul yuqiwytpympmGGtph, «Euppnnyy hwphyGtph, wowpuwjwgnipy dtnwnuyjub
hwphGtiph, unghwjwyw6 thwptiph hwyhdyGtph, yhnwlwb wewljgnipjut hwiphyukph,
KUBEUNULNURULU»LRL hwdwlwpgmd UUG-GEph uyyuwuwnpyiwl Guuumwyny pugynn hwphyGhph
hwdwn” wGydwp:
p/Lpwgnighs hwyh pugdwl vwjughlp quGdymd & hwphy mGhgnn hwdwhunpnh /phghujui W/Yjwd
hpwywpwGwyw6/ ynnihg Gnp hwpyh /hwppyGeph/ pugdwl hwdwp jmpupwynip wiquyd nhimd
Gipyuywglbng:
q/ {wyh pugnid.

* wyp bpypGtph /s <</ whdGwghp Gapywjwgnuwd Phghyulywt widbwg hwdwp 30000 << gpud.

*ng ntighntGn hpwjwpwliwywl widwig huuilup‘SOOOO < npud:

2 w/ 365 onphg, 731 onphg L 1096 onhg wyti gnpownlnipymb shpuwlwlugyuwo hwpyh dGwgnpmp

huwdwuywwmwuuwGwpwn 10 000 << gpuidh, 15 000 << gpuutha L 20 000 << npuidhl Wjwd hwiwpdbp
wnpunwndnyphl hwjwuwnytniG Wiwd yuwu (hGhmG wytu' qubGdting dheGnpnuydwpp, wymndwwn Yhapuny
thwlynid £ wnnyjwy hwphyp b nunuptgynud £ hinmwqu wihultph vyuwuwnpydwl she GnpnuydwnGtph
quGdmup:

p/ UniyG vwuqhGp mwpwoynid £ wjl pupnwjhG hwyhyGiph ypw, npnlGg pupnh dwdytunn jpugh b, pupnnp
sh ytpwpnnunyyti L pwpnh dwdytnhG Guwhunpmnn 365 L wytih opdw ppwgpnid hwpyny gnpowppltp sha
hpwlwGugybi:

q/ Um G vwughGp sh mwpuwoymud optlpny uvwhdwGywo Jupgny nuowpwjhl gnpoplpwugnid qulynn
hwpytwmbtiptiph hwyhyGtiph, Juubph nmwly qniyng pwlGyujhlG hwphyGtiph b gywhwle wigwd dwdltnwhl
wywlnltph Yypw:

3 guljugwd dwdwlwyjwhwwywoh hwdwn :




4 <LUBEUNuLNURULE>> PRL wnGyuql 15 puGlwjhG op 3000000 << npwd /Jud hwiwnpdbp wpnwpdnyp/ L
wybih gnudwph dwdtunwihG wywln nGhgny hghyuywa, Gwfunpy wdund pwGluyht Wwd dwdbunwjhG
wywnh hwyyh thehl dGwgnpyp 10000000 << npudp /juwd hwiwpdtp hwpmwpdnypp/ gipuwquignn
hpwjwpwGwlwl Jud yapghlGtphu nGoptG hwinhuwgnn Shghjuyub widwlg, << USEUNLAURULL>>
LLL wyfuwwnwhgltiph, <KUBEUNULNURTLLE>> AR hwiwwpgnd nuntdGuwpununpuyjul ypuwuhlw
wligwo ntuwlnnGuphl ypwlmhYuyhl ytpupnpynn mbntwlpGtnh, unphwjulw6 thwptiph L yhnmwlw b
wowlgnipjwl hwphyGtiph vyuwuwpyiwb Guunmwng npuiwnpynn mbntiulpGbnh,hGyubu Gub Gyl opyuw
pGpugpmd Juumuwngwo SWIFT hwnnpnugqpmipjniGGtinh yuwwnstitiph hwdwp L 5.1 jann] vwhdwGguwo
wtntywGpGtph hwswnp wiyGwp:

5 w/ Bmpwpwlsnip gnpowpphg htinn, hwpyhg punyuopltiph, yewpwjhG hwumwpnptinh wwwmdth L (Qud)
UnyGonhGwyh mpuwdwnpiwG, hGswtu Gul thGsl Wty mwph (puGwuwp «Home banky» hwiwwpgny yumwpjwo
gnpownpGtinhg thwumwpnptiph YnyGophGwyh mpuwdwnpdwl hwiwp' wiyswnp:

p/ Uty mupnig wybh «Home bank» hwiwlupgny yunmwpjwo gnpownppitph thwumwpnpbinh YpyGopphtGuyh
npuwdwnpiwl hwiwp qubGdynd £ 1000 npud uwjughG:
¢/ Mnwlwl wowlgnipjul L unghwjulwl thwptph hwyyhg punuopltph npudwnpniip’ wiydwnp:

6 UhG;L dty wdhu yuunmwpywo qnpowppGtiph hwiwp punguoplbph mpudwnpnuip wlgdwn Jupnn
npuiwnpyt] thGsk hwonpnnn wiuju 10-pny pwGlwyhl opp Ghpwnywy:

7 w/UUG-Gtph,unghwulwui thwptiph hwyhyGtph vyuuwpyiwl Gywnwyny, UwGuiuwl wjwinh L
<<Yuniwnp Yniinwluhtt wjwinh>> hudwjpduwb tyunwlng wiGwp:
p/Awpyh mbGophGiw G hwGdGwpwpwlywlh junwpniihg vwlughb sh qubdynd, tpl hwidGupupulwin
Juwuwpyby t 10 opwgnigujhG opdw plpugpnid:
¢/Awpyh mbGophGiw G hwGdGwpwpwywGh pGpughy junwpdwl hwdwp quGaynid £ uwughd, tpt vigjuy
wiumd hwGdGwpwpwluwbh junwpnd £ ntinh mGhgh:



8 w/ Bnipwpwlsjnip LiyupnbGwyhl unnpugpnipjub Yphsh hwdwp (GhGsk hwyytnne wduguw 25 mpudwnpiw6
nhiypnid ydwpp quGdynid £ Gnyy6 wiuguw pGpwugpnid vkl wiujw hwdwn, hul hwygtnnm wiugu 25-h6 jud
wiytith ny mpuiwnpiwl ghiypnd” hwenpn wiujw plipugpnid Wkl wiugwhwdwp):

p/ Uwpph wympjugdwl yawnpp hpuwjwpwwlwl /wGhwn dtnGupuumbtptph/ b Shghjuyut widwlg L ny
ntqhntiGn phghuul b hpwywpwlwlul widwlg/ wihwwnm dtnGuwpuumbptph/ bny << wGdbGwagpny
dhahjwyul wGdwlg hwiwp qubGdymyd £ jnipupwlyynip vwppp mpudwnptihu:Uwppny hwpyh uvwyuwuwpyuw i
Jdwpn ng nhghntiGun phghuul b ppugupwliwlub widwlg/ wlhwwn dtnGwpuumbtptiph/ Lng <<
widGwgpny Shghyuwlwl whidwlg hwiwp qubdymu £ dhwjl vwppny vywuwpiwl shwljwq yawpp,
wiuwluwl dwpmiGtp hpuwuwlwgGtint hGupwynpnipyniG sh pGatnGynud:

¢/ EiiyuipnGuyhG unnpugpnipjul Yphsh hwGddwl nhypnid hwpytnnt wdugw hwdwp sh qubGaynid
uwluwqghG, tpt LiEyupnGwjhG vnnpugpnipjwb Yppyp hwGdGyty £ pwGyhG dhlsl hwpytimnt wiwjw 5-nn
wfuwwnwlpwjhb onp:

9 w/Guidwybtnmwpwiitph vywuwpydwl Gyuunwyny widwn:
p/ KLQUSEUNULAURULLUY AR CaYtpmpyntind uyyuwuwpyynn ppujupwluyuwl widwlg b wihuwm
dtnGunpyuumtptinph Ynnihg Jubhuhy npudwywb shongGtph Gipp npuwdwnpynh Giph opntinny hpuwyjwGwugGtint
nhypnid quGdymd k500 << npwd uwlughG:

10 KUSEUNULAURULLUY PRL yywwmwufuwGwwmympyniG sh Ypmd pnpwlhg pwlyh Ynnihg yuwunwufuwl
sunwfwnt hwdwp:

11 Pugwnmpjudp wjl hwdwhunpnGhiph npnGp hwdwwwwnwufuwind 66 «KUSEUNULAURTULU»RLC-h Ynnihg
panmGyuo «VIP» suthwGh)GtphG:

12 Pugunmpjudp JhGuwpnul unwlwnt Gyuwunwyng pugyuo hwphybtph, UGhwwn dtnGupyunbptph ynnidhg
Junpyh dwupiwl Guyunmwyng npguo thwqnpuagptph b yuwjdwluwgnny Gwjuwmbugwo wy nhyptiph:
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